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THT 7397 :
HEfetfd el &1 Sgd Qg1 € Uigq 7R 371 €] | Yrer HIiorg :
(i) SAYE-YTE 38TV E | @t ¥ AAaTH & |

(i) IBYH-TA Ui @USl 4 fawifad e -, @, T, 90 & |

(iii) TUEF H Yo7 G&q1 19 18 T sglascyd (MCQ) a1 594 §&AT 19 TF 20 37fHFe T
T SIYTRA 1 JFF T8 |

(iv) TUE T Yo G 21 € 25 T 3710 TH-ITH (VSA) TR & 2 3l & Je7 6 |

(v)  TUETH I GE 26 F 31 TF -390 (SA) TFR & 3 el & T4 ¢ |

(i) WISTH I GEI1 32 G 35 G H-3a0F (LA) TR & 5 bl F J9 8 |

(vii) IS T H J97 GCIT 36 T 38 TF Th{UT I7&TIH SR 4 3ihl H T & |

(viii) 9999 § Gy fasheq &1 oo 11 8 | J=fU, @ve @ & 2 Jv1 4, @U8 T % 3 Yol 4,
GUE § % 2 Y91 8 a9 @UE € % 2 G941 7 SdRe fasheq 1 Jrae faar man g |

(ix)  FcFcIe &I TGN A 3 |

Eus <h

54 @S H glaehedid 597 (MCQ) &, S Jedieh J97 1 b H1 6 |

1. Zlﬁtan‘l(xz—y2)=a,Trlﬁ‘a’@ﬁ'(%,?ﬁg—i%:

X

N B) -=
y y
© 2 o 2
X y
0 0 -5
2. IREA=|0 3 0| AATH:
43 0 0
(A)  fom-omfi e B (B) Hfawr e
(C) foropol sTeE @ (D) o AT §
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i) This question paper contains 38 questions. All questions are compulsory.
(it)  This question paper is divided into five Sections — A, B, C, D and E.

(iti) In Section A, Questions no. 1 to 18 are multiple choice questions (MCQs) and
questions number 19 and 20 are Assertion-Reason based questions of 1 mark
each.

(iv) In Section B, Questions no. 21 to 25 are very short answer (VSA) type
questions, carrying 2 marks each.

(v)  In Section C, Questions no. 26 to 31 are short answer (SA) type questions,
carrying 3 marks each.

(vi) In Section D, Questions no. 32 to 35 are long answer (LA) type questions
carrying 5 marks each.

(vii) In Section E, Questions no. 36 to 38 are case study based questions carrying
4 marks each.

(viii) There is no overall choice. However, an internal choice has been provided in
2 questions in Section B, 3 questions in Section C, 2 questions in Section D and
2 questions in Section E.

(ix)  Use of calculator is not allowed.

SECTION A

This section comprises multiple choice questions (MCQs) of 1 mark each.

dy

1. If tan™! (x2 — y2) = a, where ‘a’ is a constant, then —= is:
X
@a = B) -2
y y
© 2 D 2
X y
0O 0 -5
2. IfA=| 0 3 O|,thenAisa:
4-3 0 0
(A) skew-symmetric matrix (B) scalar matrix
(C) diagonal matrix (D) square matrix
65/6/3 Page 3 of 23 P.T.O.
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3. i fear o Ewiar
A2Y
o 21
________ w2 _ _ _ _ _ _
ey
________ w2
X' < } } {
2 -1 © C
=) S
® —TT
VY’
(A) y=seclx (B) y=secx
(C) y=coseclx (D) y=cosecx
4, sec! (—/2)—tan™ (ij TR
J3
11xn 5n
(A) D) (B) 12
5n n
(C) aET) (D) 12
5.  HMI A8 A AR B % f AB' 3R B'A M1 uRaa © | afe A=g A 6l &Il
nxm%,?ﬁ&loqc\sB?mpfoh\le%:
(A) nxn (B) nxm
(C) mxm (D) mxn
6.  HHM I o al foraH-wnitd TR hl ANTHA Had ;
A) T fosm-amfid TeE g e
(B) U THMT ST BT &
(C) T I ATHE BT &
(D) T dodHeh T[T Bl &
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The graph shown below depicts :

X'« i
-2
v Y’
(A) y=seclx (B) y=secx
(C) y=cosec!x (D) y=-cosecx

[sec‘1 (—\ﬁ)—tan‘l (%H is equal to :

11x 5%
57 T
(C) — E (D) E

Let both AB' and B'A be defined for matrices A and B. If order of A is
n x m, then the order of B is :

(A) nxn (B) nxm

(C) mxm (D) mxn

Sum of two skew-symmetric matrices of same order is always a/an :
(A) skew-symmetric matrix

(B) symmetric matrix

(C)  null matrix

(D)  identity matrix

Page 5 of 23 P.T.O.
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7. Iy = a cos (log x) + b sin (log x) 7, X2y2 + Xy, q:

(A)  cot (log x) B) y

C) -y (D) tan (log x)

log (1 + ax) + log (1 — bx) x %0 FR1T

8. IRflx)= X
k , x=0 %faC
x=0 WIS, AT FTAFR :
(A) a (B) a+b
(C) a-=b (D) b

9. f(x) = xX wqmm’ﬁaﬁg:
(A) x=zeW? B) x=elWwg

(C) x=0WgT D) x=1W?

10. 37T GHIRT log (gj =3x + 4y HIEAL:

(A SefV+4e3%4+C=0 (B) &34y +C=0
(C)  8e 3 +4eX4+12C =0 (D) 3e 4V +4e3X+12C =0
65/6/3 Page 6 of 23
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7. Ify = a cos (log x) + b sin (log x), then x2y, + xy; is :
2 1

(A)  cot (log x) (B) y

C) -y (D) tan (log x)

log (1 + ax) + log (1 — bx)
8. If f(x) = X
k , forx=0

, forx=0

1s continuous at x = 0, then the value of k is :

(A) a (B) a+b
(C) a-b (D) b

9. f(x) = xX has a critical point at :
(A) x=e B) x=el
(C) x=0 (D) x=1

10. The solution for the differential equation log (g—yj =3x + 4y is:
X

(A) 3et+4e3X+C=0 (B) ey 4+ (C=0
(C) 8 3Y +4etX+12C=0 (D) 3e 4V +4e3X+12C =0
65/6/3 Page 7 of 23 P.T.O.
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11. U Rash T @oeT (LPP) & fou, o o St e Z = x + 2y ® | sqaen 9
S AT QT &1 PQRS BTIifhd &1 1T HTeig H fe@mn T e |
> X
(ST S : ST JAT TR T & )
(53) o2 G (23
13’ 13 2’ 4 2’ 4 7°7
FefRad T @ AT R a1 2 2
(A) ZWWWS(%,%) WE
(B) zwaﬁwmfig,gj WE
(C) ZFHHAAPI) > (ZHTHH Q W)
(D) (ZHHF Q) < (Z FTHF R T)
2
2
12. %QWWWW{E—;’—} =3—ya?raﬁﬁaﬁtammzé‘:
X X
A 2,2 (B) 2, ity T
C) 1,2 (D) 1, afesriva &
13, WATF(x) =3 &2+ 20— = +5, fi)=0 ¥, fx) ¥
X
(A) x3+3x2+%+5x+11 (B) x3+3x2+%+5x—11
X X
(C) X3+3x2—%+5x—11 (D) x3—3xz—%+5x—11
X X
65/6/3 Page 8 of 23
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11. For a Linear Programming Problem (LPP), the given objective function is
Z = x + 2y. The feasible region PQRS determined by the set of constraints
is shown as a shaded region in the graph.

w
A o\ / \

<

(Note : The figure is not to scale)

o )3 B (3o (83
13" 13 2 4 2° 4 77

Which of the following statements is correct ?

(A) Zis minimum at S(%, %)

2 4

(C) (Value of Z at P) > (Value of Z at Q)
(D) (Value of Z at Q) < (Value of Z at R)

(B) Zis maximum at R(Z, §j

2
2
12. The order and degree of the differential equation {d_y - 1} = dy are,

respectively :
(A 2,2 (B) 2, not defined
C) 1,2 (D) 1, not defined
13. Let f'(x)=3(x2+2x)— = +5, (1) = 0. Then, fx) is :
X
(A) X3+3x2+32+5x+11 (B) x3+3X2+%+5X—11
X X
(C) X3+3x2—%+5x—11 (D) x3—3x2—%+5x—11
X X
65/6/3 Page 9 of 23 P.T.O.
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14. U as T 9@ (LPP) & fiu, 329 %o Z = 2x + 5y @1 (HHfeRad
STV o Jcia AfrhaH R AT R :
Xx+y<4, 3x+3y=>18, x,y>0
AT T I HIWT SR Frferfiad & gt foshed T |
AY

=

B

Q X
v’ 3x + 3y =18
Xx+y=4
(ST § : STTerE AT STTER T2 © )
& 715 IRaeh TUTHT ST 1 8

(A) BHIifh UREg ST TR |

(B) BwSAOBHEZ|

(C) TR

(D) ST AOB 3R BifeRd STaferg & & shg T H 2 |

15. Wy2=X,WX=OWX=1%WW@%3WW%:
(A) %aﬁswé (B) %aﬁwr%

(© 3atgd D) % itz

16. J‘ 5 eX dx SR E :
(x+6)

(A) logx+6)+C B) e&+C
X
© —=—+C ® —L_sc
X+ 6 (X +6)
65/6/3 Page 10 of 23
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14. In a Linear Programming Problem (LPP), the objective function
Z = 2x + 5y is to be maximised under the following constraints :
x+y<4, 3x+3y>18, x,y>0
Study the graph and select the correct option.
AY

N

P

A
%

Yf

Q X

3x + 3y = 18
X+y=4
(Note : The figure is not to scale)
The solution of the given LPP :
(A)  lies in the shaded unbounded region.
(B) liesin A AOB.
(C)  does not exist.

(D) lies in the combined region of A AOB and unbounded shaded
region.

15. The area of the region bounded by the curve y2 = x between x = 0 and

x=1is:
3 : 2 :
(A) ) sq units (B) 3 sq units
(C) 3 squnits (D) % sq units
16. j X 52 e® dx isequalto:
(x +6)
(A) logx+6)+C (B) eX+C
X
© - ic (D) L sC
X+6 (x +6)
65/6/3 Page 11 of 23 P.T.O.
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17. ®AT |2 | =53R—2<A<1814), |Aa | T ORERR:

(A)  [5,10] (B) [-2,5]
© [-2,1] (D) [-10, 5]

18. vt dH weEl A, B 3 C & 3uferd g9 9T &) daeh BTt | He&T A & Iufeed 98 g4
T ITRERAT 0-10, TEET B o IR T&1 81 shl ATRIehdT 0-20 3R Te&T C o IUferd
TE1 B hl ITRIeRdT 0-05 2 | S8k TE 814 ohl TTRIRAT &
(A) 0-35 (B) 0-316
(C)  0-001 (D) 065

v &I 19 3R 20 3779 UF T eMRd Y99 & | 1 HF 188 T8 8 978 Tt &)
STIYHIT (A) 1 TR 1 G (R) GRT Hfehd o201 7311 € | 59 521 % G&l SR A4l 13 7T HIS]
(A), (B), (C) 3R (D) 4 & g 37T |
(A) R (A) SR deh (R) SHT H&T & 3R b (R), AR (A) i T A
FATE |

(B) #ANYHAA (A) 3R T (R) ST &&l &, 9&q d (R), AR (A) 1 &&t

ST 781 FAT R |
(C) AR (A) W&l &, T Tk (R) eI € |
(D)  SATYHI (A) T &, T Toh (R) T 2 |

— - —
19. @A (A): AR |a x b |2+ |a.b|2 =267 |b| =88 A

|2 | =281
> o>
T (R): sin2 @ +cos20=17I |a x b|=]a||b| sin6 3N
— —
a.b =|a||b|coso?l

20. IAMFHYT(A): HHT(x) = eXqAATg(x) = log x 2 1 A (f + g) x = X + log x T, ST&l
(f+g FIAREI

dF (R): (f + g) o1 97 = (£) ST Tid N (g) T Tid |

65/6/3 Page 12 of 23
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17. Let | a | =5 and — 2 <A < 1. Then, the range of |K5) | is:
(A)  [5,10] (B) [-2,5]
C) [-2,1] (D) [-10, 5]

18. A meeting will be held only if all three members A, B and C are present.
The probability that member A does not turn up is 0:10, member B does
not turn up is 0-20 and member C does not turn up is 0-05. The
probability of the meeting being cancelled is :

(A) 035 (B) 0-316
(C) 0-001 (D) 0-65

Questions number 19 and 20 are Assertion and Reason based questions. Two

statements are given, one labelled Assertion (A) and the other labelled Reason
(R). Select the correct answer from the codes (A), (B), (C) and (D) as given below.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

-

o N -
19. Assertion (A): If |a x b |2 + |a.b |2 =256 and | b | = 8, then

%
| &

Reason (R): sin20 +cos20 =1 and

o

— —
|2 xb|=|2a||b|sin6and a.b

%
|2 || Db | coso.

20. Assertion (A): Let f(x) = eX and g(x) = log x. Then (f + g) x = e* + log x
where domain of (f + g) is R.

Reason (R): Dom(f + g) = Dom(f) N Dom(g).

65/6/3 Page 13 of 23 P.T.O.
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TUE
59 GUS | 5 Hld 79391 (VSA) TR & T &, [o77H Tl & 2 A 6 |

21, (#) afifigsii A iR HmEw 2 ot b ke wfw d, o fig O, 1 wer g
BA T feorq 8, =1 Rt wifesr 3ra shifSie sifer BC = 3BA @ |

3TeraT
@) @l T of el x, y 3 2 % W G B W FH IR | A T A
qRETr 543 TRER, A T A HITST |

22. f(x) = sin~! (= x2) T Iid J1d HI™T |

23.  3IdUA Jd hINT fS8H f(x) = x + 1, x+0 HHT IIAF EATL |
X

24. (F) V2% Hume JeVZX w1 sraeerst T N, x > 0 F faw |
AT

@) R @Y= (yX %,?ﬁj—i J1d IS |

25. 9 10T 1A AT fore T &t T Y@ Uk qE W &

x-5 y+3 z-1

lq: =
1+ 9 1 -3

_y-1 z+5
2 -1

Qus T

$9 GUE H 6 TH-IHI (SA) THR & T 6, 1978 JeiI% & 3 HF 3 |

1 3 2|1
26. xFANIE@HINGAR[L x 1] |2 5 1| |2|=0.
15 3 2| (x
65/6/3 Page 14 of 23
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SECTION B

This section comprises 5 Very Short Answer (VSA) type questions of 2 marks each.

%
21. (a) If 2 and b are position vectors of point A and point B

respectively, find the position vector of point C on BA produced
such that BC = 3BA.

OR
(b)  Vector T is inclined at equal angles to the three axes x, y and z. If

magnitude of T s 5\/3 units, then find T.

22. Find the domain of f(x) = sin~! (— x2).

23. Find the interval in which f(x) =x + 1 is always increasing, x # 0.
X

24. (a) Differentiate \/e*E with respect to e\b_x for x > 0.
OR
dy
(b) If x)Y =(y)%, then find I

X
25. Find the angle at which the given lines are inclined to each other :
x-5 y+3 z-1

lq: =
1+ 9 1 -3

y—-1 z+5

X
big= "9 T 1

SECTION C

This section comprises 6 Short Answer (SA) type questions of 3 marks each.

1 3 2|1
26. Find the valueofx,if [1 x 1] |2 5 1| [2|=0.
15 3 2| |x
65/6/3 Page 15 of 23 P.T.O.
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Rz P2, 4, -1 frvar 222 - Y28 - 255 gt i

HAYAT
mrT faigait A, B 3 C ¥ fefr afm e 81 - ] -2k, 1+ 2] - k
el + 55 + 3k #1fig A QT aeh 3 BC ¥ wwioy v ¥ Ay ai
TS FHRTOT T HIRAT |

Iger T TEET I o SHifSTe, STet 389 Wod Z = (x + 4y) o1 (9 et

2x +y>1000
x + 2y > 800
X, y>0

o ST =T R AT 2 |
T & ol T o0 AT SHT3E 3N Z 1 =AdH HIF J1d hIIST |

(%h)

@)

(h)

@)

T B YIhd H&ASA & I (S1S) 9 TR SHHT =1&dl 8 foh o iRt
2x +y = 41 FI Eq< Fd &, x, y € N | T & & a9 T Tiq R IHEw
I SHINTT | SAT=r IS foh T 18 Hele Torqed, T id SAYaT H3hiHeh © | 314
ST TSI feh 3T I8 Teh oa Hefer & STl e |

HAAT

c n-1, Ifengq
T fln) = {n+1, Ifenfaum 2

SN & eid £: N — N, Sfel N Wiehd G131 3l Tq==d &, Tshoh! AT=a1a1
T

x h AU y = sin~! (3x — 4x3) AT HeTheIS J1d HIST, (< x € {_%ﬂ
2

JTqaT
2
x & EUT y = cos™L (1 ij T STThetST JId IS, ST x € (0, 1) 7|
1+x
Page 16 of 23
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Find the distance of the point P(2, 4, —-1) from the line
X+ y+3 z-6
1 4 -9

OR

A A A
Let the position vectors of the points A, Band Cbe 31 — j — 2k,

A A A A A A . .
1 +2) —k and i +5j + 3k respectively. Find the vector and

cartesian equations of the line passing through A and parallel to
line BC.

Consider the Linear Programming Problem, where the objective function
Z = (x + 4y) needs to be minimized subject to constraints

2x +y =>1000
X + 2y > 800
X,y 2>0.

Draw a neat graph of the feasible region and find the minimum value

of Z.

(a)

(b)

(a)

(b)

A student wants to pair up natural numbers in such a way that
they satisfy the equation 2x + y = 41, x, y € N. Find the domain
and range of the relation. Check if the relation thus formed is
reflexive, symmetric and transitive. Hence, state whether it is an
equivalence relation or not.

OR

Show that the function f : N — N, where N is a set of natural

n-—1, if niseven ..
numbers, given by f(n) = . is a bijection.
n+1, if nis odd

Differentiate y = sin~1 (8x — 4x3) w.r.t.x,ifx {— %, %}

OR

1—X2

2

Differentiate y = cos™1
1+x

J with respect to x, when x € (0, 1).

Page 17 of 23 P.T.O.
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3. SAIT4TPSIM5FHAITEE | FAIIH 6 The X 7 HieAl e 8 | ¥T [ H W Teh T
ATG=SAT THehTet T et 11 H ST & STt & 3TN L Ton 718 Ot 1 | | Irg=dn Hebret!
ST & | 56 718 o |vha T Al B 3hT TTRIERAT T ShITSTT |

Qs Yy

TG TS T 4 JH-FHIT (LA) JFRFTH S, (S8 I dF & 5 HF 8 |

32. (%) IFhA GHIF x2y dx — (x3 + y3) dy = 0 T EA T SHITSTT |

arraT
@) WW(1+X2)%+2xy—4x2=0?mﬁ§lmﬁ9lﬁy(0)=0%
A T 1 ShITSTT |
2 2
33. W%Wﬁaﬁaﬁ%+i—2=1wi@3ﬁx=—%,x=%%aﬁam
a

& T &A% T4 I |

34. (%) FAHINT:

J' <2 +1
dx
(x—12 (x+3)

JraT
(@) T T I
/2

X
- dx
sinXx + cosx
0

35. sy foh fergatl A (0, -1, -1) R B (4, 5, 1) ¥ TR aredt W, fsgati € (3, 9, 4)
HRD (- 4, 4, 4) ¥ T[S AT @ i Fredl & |

65/6/3 Page 18 of 23
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31. Bag I contains 4 white and 5 black balls. Bag II contains 6 white and
7 black balls. A ball drawn randomly by from bag I is transferred to
bag II and then a ball is drawn randomly from bag II. Find the
probability that the ball drawn is white.

SECTION D

This section comprises 4 Long Answer (LA) type questions of 5 marks each.

32. (a) Solve the differential equation : x2y dx — (x3 + y3) dy = 0.
OR

(b)  Solve the differential equation (1 + x2) j_y + 2xy — 4x2 = 0 subject
X

to initial condition y(0) = 0.

2 2

33. Using integration, find the area of the ellipse X—z + Z_Q = 1 bounded
a

: a a

between the lines x = — Y tox = ra

34. (a) Find :

j’ x2+1
dx
(x—12% (x+3)

OR
(b) Evaluate :
/2
J- - X dx
SInX + COSX
0

35. Show that the line passing through the points A (0, -1,-1) and B (4, 5, 1)
intersects the line joining points C (3, 9, 4) and D (- 4, 4, 4).

65/6/3 Page 19 of 23 P.T.O.
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Qg s

39 @UE § 3 JaHUT 3T LR I3 8, 158 Tedsh & 4 iF 8 |

Th{0T 37T — 1

36.
fafyaa e b’ Y T Hidt SR & 9 39 Yoh TS ST © foh I8 SR shl =TS o6
1Y = o Tl s 2 |
UG T ok HTER T, FfeTRad st o I e :
(i) o Ry aor o e A HiEt o et e o st st gl () @ AR
AR T HATE (x) o TT H A hITSTY | 3Hh AT, Teh GAdeTeh g7 foh i &
M T GHHRI S o &R (A) % fIT o stfvsateds, ho dem x & 9at
fafaw | 1
(i) IR W FE (x) F LT, &ABA (A) FT TThelsl JId hIT 3T THHT
shifcreh foig oft ST Shifory | 1
(iti) () TATSY foh ohifcieh foig T, GHERTOT BIST =hT &PTBeT (A) SAferehed €I | 2
3TeET
(i) (@) 3L 5 m T Gt 1 uTe, SR T AR 39 JHR i o & F
T (y) FA A T2 m/s &, TR R ITE (x) AR AT w2, 5
HIG T IR T E 3 m R ? 2
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SECTION E

This section comprises 3 case study based questions of 4 marks each.

36.

65/6/3

&

Case Study -1

A ladder of fixed length ‘h’ is to be placed along the wall such that it is
free to move along the height of the wall.

Based upon the above information, answer the following questions :

(1)

(i1)

(iii)

(iii)

Express the distance (y) between the wall and foot of the ladder in
terms of ‘h’ and height (x) on the wall at a certain instant. Also,
write an expression in terms of h and x for the area (A) of the right

triangle, as seen from the side by an observer. 1
Find the derivative of the area (A) with respect to the height on the
wall (x), and find its critical point. 1
(a) Show that the area (A) of the right triangle is maximum at
the critical point. 2
OR
(b) If the foot of the ladder whose length is 5 m, is being pulled
towards the wall such that the rate of decrease of distance
(y) is 2 m/s, then at what rate is the height on the wall
(x) increasing, when the foot of the ladder is 3 m away from
the wall ? 2
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Th{0T g — 2

37. gl WA sF= dTctl Th o, hael o (S shaf=ii A, B 3R C % FHICHN
Sl @ SRioh ek AIYYUT THICHIA ST shi STRISHTY, shalel SHHRT: 5%, 4% 3T 2% @ |
JEeh! Gl H, IHeh T HAT A % 25% FEHM, U1 B % 35% FHIEHIA N HuHT C

% 40% TIPS |

U SATh §0 3 H U THIEH I TIRdT & |

() H B o ol € Sl STRIeRdT S Al | 2
(i) 8 VYU WA, 9T B o T IcATIAd fohU ST ol TR 1 2 2

Th{0T 3{eqIT — 3

38. i formmeff J=r, TRt 3T 89 WY 1 T Giied & fof ST ST € | SR 4 9,
3 AT 3R 2 6, T 60 TR @S | THT 7 2 U, 4 HIUAT 3R 6 WS, T 90
Tl | G A Z 70 ¥ 6 U4, 2 FHIUAT 311 3 & @ik |
ST AT o AR T, FrAferfiad St o I S

() A% IE] T GeT J1d HA hl GHET I &A FH h [T STTTTIH THIHT

ST FN gTeh! 3148 &9 AX = B H =21h IV | 1
(i) | A| I AT AR G HIC 6 7 AL J1a FAT eva § | 1
(iii) () ICEWSE, A AL J1d HINT 3R X I o foIg g1 feaiae | 2
JrerdT
(iii) (@) A2 - 8I, STl I U dcdHeh HTeYE &, 1 hifSIY | 2
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Case Study - 2

37. A shop selling electronic items sells smartphones of only three reputed
companies A, B and C because chances of their manufacturing a defective
smartphone are only 5%, 4% and 2% respectively. In his inventory he has
25% smartphones from company A, 35% smartphones from company

B and 40% smartphones from company C.

A person buys a smartphone from this shop.
1) Find the probability that it was defective. 2

(i1) What is the probability that this defective smartphone was

manufactured by company B ? 2

Case Study -3

38. Three students, Neha, Rani and Sam go to a market to purchase
stationery items. Neha buys 4 pens, 3 notepads and 2 erasers and pays
T 60. Rani buys 2 pens, 4 notepads and 6 erasers for T 90. Sam pays ¥ 70

for 6 pens, 2 notepads and 3 erasers.

Based upon the above information, answer the following questions :

(1) Form the equations required to solve the problem of finding the

price of each item, and express it in the matrix form AX = B. 1
(i) Find |A| and confirm if it is possible to find A~1, 1
(iii) (a) Find A1, if possible, and write the formula to find X. 2
OR
(iii) (b) Find A2 — 81, where I is an identity matrix. 2
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